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#difine 3l

{

#define MEMBER 50
int main()

double kokugo[MEMBER];

double suugaku[MEMBER];

double eigo[MEMBER];
double rika[ MEMBER];
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int main()

double kokugo[50];
double suugaku[50];
double eigo[50];
double rika[50];
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double x[SIZE];

FRAEEE T HEIE.
Iy0xANSE,

#Hdefine SIZE 4 ||a=:

CEHIT(ER) OEH
=IH{Eens,

. BEETCHWER#MIZ

double x[100];
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max=x[0];
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int i;
1=3;

min=x[i];
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char c;

char a[5];

int i;

int b[5];

double f;

double d[5];
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/* test_array.c ECHIERER AU MERE */
#include <stdio.h>

#define SIZE 4

int main()

{

double a[SIZE];
double b[SIZE];
double c[SIZE];

/> BHBERADHKA*/
a[0]=1.0;
a[1]=1.1;
a[2]=1.2;
a[3]=1.3;

b[0]=2.0;
b[1]=2.1;
b[2]=2.2;
b[3]=2.3;
10

[* RIZHE< */




2000 ERTOT ST EEER

/*

c[0]=3.0;
c[1]=3.1;
c[2]=3.2;
c[3]=3.3;

[*EHEST=HXA*/
b[4]=2.4;  /*REL*/
b[5]=2.5;  /*REL\*/

/*ERINNBERR>/

printf("a[0] =%f ¥n",a[0]);
printf("a[1] =%f ¥n",a[1]);
printf("a[2] =%f ¥n",a[2]);
printf("a[3] =%f ¥n",a[3]);

printf("b[0] = %f ¥n",b[0]);
printf("b[1] = %f ¥n",b[1]);
printf("b[2] = %f ¥n",b[2]);
printf("b[3] = %f ¥n",b[3]);

RIzH< &
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printf(*'c[0] = %f ¥n",c[0]);
printf('c[1] = %f ¥n",c[1]);
printf(*'c[2] = %f ¥n",c[2]);
printf(*'c[3] = %f ¥n",c[3]);

/*TESEESERDSIE*/

printf("c[4] = %f ¥n", c[4]);
%f ¥n", c[5]);
%f ¥n", c[6]);

printf("'c[5]
printf("c[6]

return O;
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BROT—HE BEINAZA[TOERKIIIOERK];

Bl | #tdefine  TATE 5
#define YOKO 3

double M[TATE][YOKO];
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2RTTEIDEE :
double mM[TATE][YOKO];

Ll
m[0][0] | m[O][1] === |m[O][j]
m[1][0] | m[1][1] =+ | m[1][j]
1T | m[ilfo1 | m[ilral =+ | m[i]0]
m[TATE-1][YOKO-1]
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/* tenchi.c 2RFTEHIEEREZEITSI)
OAVRERE

*/
#include <stdio.h>
#define GYO 2 /* ANINBITHIDITODE */
#define RETU 2 /* AHQEN51T5IDF|IDEL */
int main()
{
/* BBHIDEE */
doulbe X[GYO][RETU]; /*ABZnt=175>*/
double tx[RETU][GYO]; /*Ex& 751>/

/= RICHRLS*/
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/* TDEZRDAS */
printf("x[0][0]?");
scanf("%lf", &x[0][0]);
printf("x[O0][1]?");
scanf("%lf", &x[0][1]);
printf("x[1][0]1?");
scanf("%lf", &x[1][0]);
printf("x[1][1]?");
scanf("%lf", &x[1][1]);

/* BEREITHIDEE */
tx[0][0] = x[0][O];
tx[O][1] = x[1][O];
tx[1][0] = x[O][1];
x[11[1] = x[1][1];

> RIZ§5m<*/
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/* ANSNI=ATIE, EDEETIHDRT*/
printf(""x¥n");

printf(%06.2f %6.2f ¥n", x[0][0], x[O][1]);
printf(%6.2f %6.2f ¥n", x[1][0], x[1]1[1]);

printf("XDERE TFI¥Nn");
printf(%06.2f %6.2f ¥n", tx[0][0], tx[O][1D);
printf(%06.2f %6.2f ¥n", tx[1][0], tx[1][1D);

return O;
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#define TATE 5
#define YOKO 4
#define OKU 3

double cube[TATE][YOKO][OKU];

fFELAHV=:

BRI A [HF1[HF2][HFS3] -
TEEDEHDKISIZDOMZ D,
Fl=. RAFIZIZ (EHED)
EHOKBFEZS,
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SRTEFNDA A=

cube[0][3][2]

cube[0][0][0]

\cube[4] [31[2]

cube[2][1][0]
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FE{TT74 )L :determinant
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[* RDN—=D|Hx >/

/> =~/
#include <stdio.h>

[*OOFE>/
#define SIZE 2 /* 175D RIT */

int main()
{
/> EH BEIDEE */
double matrix[SIZE][SIZE];
/* ABDESnt=1751 */
double det; /* fTHImatrixD1THIRXDE */

/* ROR—=2 (2 >/
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/* fE >/
/* T DEFDDAN>/
printf("matrix[0][0]?");
scanf("%lf", &matrix[0][0]);
printf("matrix[0][1]?");
scanf("%lf", &matrix[O][1]);
printf("matrix[1][0]?");
scanf("%lf", &matrix[1][0]);
printf("matrix[1][1]?");
scanf("%lf", &matrix[1][1]);

/* ROR—D”HgL >/
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/* fwE */

/=TI DEHE*/
det = matrix[O][O0]*matrix[1][1]
- matrix[O][1]*matrix[1][O];

printf("1T5 matrix :¥n");
printf("%6.2f %6.2f ¥n",
matrix[O0][0], matrix[O][1]);
printf("%6.2f %6.2f ¥n",
matrix[1][0], matrix[1][1]);
printf("DITHIR (. ¥n");
printf('%6.2f TY , ¥n", det);

return O;

24

AR EF



2000 ERTOT ST EEER e VAEIRRT

=17

$./determinant
matrix[0][0]?1.0
matrix[0][1]?2.0
matrix[1][0]?3.0
matrix[1][1]?4.0
1751 matrix :
1.00 2.00
3.00 4.00
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